Consistency check (ERROR)
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Item condition Impute| code
WK_T7DAY (F10:col.55) = 1 or RECEIVE (F11:col.56) = 1
or RETURN (F12:col.57) = 1 (lawegiilausin)
AvuTl 6
1 If STATUS (F25:col.73) = 5
then WORK-STA(F46:col.162) - CON-WORK(F51:col.167) = blank ; if not list INF-1
2 If STATUS (F25:col.73) = 4
2.1 then WORK-STA(F46:col.162) = 1 or 2 or 3 or 4 ; if not list INF-2
2.2 and WORK-STA(F46:col.162) =1 or 2 then LEG-FORE(F47:col.163) - CON-
WORK(F51:col.167) = blank ; if not list INF-3
2.3 and WORK-STA(F46:col.162) = 3 or 4 then LEG-FORE(F47:col.163) - PRL-
TECH(F48:col.164) = blank ; if not list INF-4
2.4 and WORK-STA(F46:col.162) =3 or 4 then SICK ANNUAL(F49: col.165) = 1 or 2 ;if
not list INF-5
2.5 and WORK-STA(F46:col.162) = 4 then SOC-SEC(F50:col.169)=1or2or3ordor5
; if not list INF-6
2.6 and WORK-STA(F46:col.162) = 4 then CON-WORK(F51:col.167) = blank ; if not list INF-7
2.7 and WORK-STA(F46:col.162) = 3 then INDUS(F24:col.68-72) = 99001 or 99009 ; if not list INF-8
3 | If STATUS (F25:col.73) = 6
3.1 then WORK-STA(F46:col.162) = blank ; if not list INF-9
3.2 then LEG-FORE(F47:col.163) =1 or 2;if not list | INF-10
3.4 and LEG-FORE(F47:col.163) =1 then PRL-TECH(F48:col.164) = blank ; if not list INF-11
35 and LEG-FORE(F47:col.163) = 2 then PRL-TECH(F48:col.164) =1 or 2 ; if not list INF-12
3.6 and PRL-TECH(F48:col.164) = 1,2 then SICK ANNUAL(F49: col.165) =1 or 2 ; if not list INF-13
3.7 and PRL-TECH(F48:col.164) =2 then SOC-SEC(F50:col.169) =1 or2or3ord or5 ;if
not list INF-14
3.8 and PRL-TECH(F48:col.164) =2 and SOC-SEC(F50:col.169) = 1 or 2 or 3 or 4 then CON-
WORK(F51:col.167) = blank ; if not list INF-15
3.9 and PRL-TECH(F48:col.164) =2 and SOC-SEC(F50:col.169) = 5 then CON-
WORK(F51:col.167) = 1 or 2 ; if not list INF-16
3.10 and PRL-TECH(F48:col.164) = 1 then SICK_ANNUAL(F49: col.165) - CON-
WORK(F51:col.167) = blank ; if not list | INF-23
4 | If STATUS (F25:col.73) = 1
4.1 then WORK-STA(F46:col.162) - LEG-FORE(F47:col.163) = blank ; if not list INF-17




Consistency check (ERROR)
Iﬂi\‘lﬂ']ié']i?ﬁ]LLi\‘l\ﬂuuaﬂﬁgUU n.A. 2564

Item condition Impute| code
4.2 then PRL-TECH(F48:col.164) =1 or 2 ;if not list | INF-18
4.3 and PRL-TECH(F48:col.164) = 1 or 2 then SICK_ANNUAL(F49: col.165) = blank ; if not list INF-19
4.4 and PRL-TECH(F48:col.164) = 1 then SOC-SEC(F50:col.169) - CON-
WORK(F51:col.167) = blank ; if not list INF-20
4.5 and PRL-TECH(F48:col.164) = 2 then SOC-SEC(F50:col.169) =2 or3ordor5 ;if
not list INF-21
4.6 and SOC-SEC(F50:col.169) = 1 - 5 then CON-WORK(F51:col.167) = blank ; if not list | INF-22
5 | If STATUS (F25:col.73) =2 or3 or 7
5.1 then WORK-STA(F46:col.162) - SICK_ ANNUAL(F49: col.165) = blank ; if not list | INF-24
5.2 then SOC-SEC (F50:col.169) = 2or3ordor5 ;if not list INF-25
5.3 then CON-WORK(F51:col.167) = blank ; if not list | INF-26
6 | If STATUS (F25:col.73) =1or2or3or6or7
6.1 and TYPE-EN (F53:col.169) = 1 then REGISTER (F54:col.170) =1 or 3 ; if not list INF-33
ﬂau‘ﬁ 7
6 If STATUS (F25:col.73) = 1 - 7 Then W-PLACE (F52:col.168) = 1 - 9 ; if not list INF-27
7 If STATUS (F25:col.73) = 1,2,3,6,7 and W-PLACE (F52:col.168) = 1 - 9 then TYPE-EN
(F53:col.172) - ACCOUNT (F55:col.174) <> blank ; if not list INF-28
8 | If STATUS (F25:col.73) = 4,5 and W-PLACE (F52:col.168) = 1 -9 then TYPE-EN (F53:col.172)
- ACCOUNT (F55:col.174) = blank ; if not list | INF-29
ﬂau‘ﬁ 8
9 If STATUS (F25:col.73) = 1 - 7 then WORKPROB (F56:col.172) =0 -9 ; if not list INF-30
10 | If WORKPROB (F56:col.172) = 0 -9 then COND (F57:col.173) =0-9 ; if not list | INF-31
11 | If COND (F57:col.173) =0-9 then UNSAFE (F58:col.174)= 0-6,9;if not list INF-32
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Item condition | Impute | code | Jaanuulsiiou

WK_7DAY (F10:col.55) = 1 or RECEIVE (F11:col.56) = 1

or RETURN (F12:col.57 ) = 1 (lanw1sfiiaui)

1 If STATUS (F25:col.73) = 6

and PRL-TECH(F48:col.164) =2 then
SOC-SEC(F50:col.169) = 2 or 3 st [ INF-1w|gndraenvu dedliludusefunuinng 39 vide 40 (F258F50)
2 If STATUS (F25:col.73) = 1
and PRL-TECH(F48:col.164) = 2 then
SOC-SEC(F50:col.169) = 1 list | INF-2w [wedns (F25) sedliidugussiumuunns 33 (F50)
3| If INDUS (F24 : col.68 - 69) = 01-03 then
W-PLACE (F52:col.168) = 1 or 2-7 or 9 list | INF-3W [n3nnasiaaeugvinaunianeasnssy (F24) fuanuivinnu (F52)
4 | If INDUS (F24 : col.68 - 69) = 41-43 then
W-PLACE (F52:col.168) = 1 or 2-3 or 5-9 list | INF-aw [nganasivaeufinaunioasns (F24) fuaauivinay (F52)

If STATUS (F25:col.73) = 6 and SICK_ANNUAL(F49:
col.165) =2 then SOC-SEC(F50:col.169) = 1 list | INF-5W [iBudusziununnns 33 desldsudndantae/ainneu (F49)




